ALY 3

4. (a) MgCl,

b) CaO

c) Cu(NO,),
) AICI,

e) CaCoO,

N~ >0
5. (a) cnleRMIH, IS

(b) BIEGSH, SHHMA
c) TifeTd, TESSH, hied qo SAedtsH

q) T, Gewt qen e
a) 26¢g

) 256 ¢

c) 124 ¢

d 365¢g

e) 63g

AT 4

10. 80.006

_—_—_ =
o

=)

—_

—_

—_—_—_ =~
=)

11, $x=90%, ¥x=10%
12. ATl = 1, I8 &1 19 SRRM 2
13. SSEM & X =12, Y=14, SF1 THEata B

14. (a) F (b) F (¢ T (d F

15. (@) v (b) x () x (d x

16. (a) x (b) x (¢ v (d) x

17. (@) x (b) v () x (d x

18. (a) x (b) x () x (@ v
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19.

RITIL s
e wt e
9 9
16 &2 16 16
12 24 12 12
1 2 1 1
1 1 0 1

AT 7
1. (a) T =2200 m; faemdd = 200 m.
2. (a) SIHd =Tei= 3Hd M=2.00m s
(b) SHd == 1.90 m s ; 3Hd M= 0.952 m's '
3. 3lEd ST =24kmh”
. T H TE W =96m
7. AM=20ms T T =25
10. IA=3.07kms

ALY 8
4. c
5. 2m s? 14000 N
6. -4N
7. (a) 35000 N

(b) 1.944 m s?

8. 2550 N el &1 7fa o fauda fem o)
9. d
10. 200 N
12. 3kgms

13. 2.25m; 50 N

14. 10kgms'; 10kgms'; 5/3 m s
15. 500 kg m s'; 800 kg m s; 50 N
17. 40kgm s

A2. 240N

A3. 2500 N

A4. 5m s? 24000 kg m s; 6000 N

Rationalised 2023-24
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AFY 9

3. 98N

12. el | WK 98 N 1 =gHl W 9 16.3 N &1

13.  SAfrehan =€ 122.5 m 941 el THI 10 s &

14. faq 97 =19.6 m s |

15. 3TfUehad HE = 80 m, ¢ foRemd™ = 0, a7 T &I T T = 160 m |

16. TEETHYT T = 3.56 x 1022 N |

17. 4 s 9991, <el ¥ 80 m =l

18. URfYH 91 =29.4m s, F9E =44.1m, 4 s T¥AM 718 IR ¥ 4.9 m T W gt o1 = 9§
39.2 m T W M

21. U gF Sl

22. Uohe gd | feentud a1 SHM 350 g BN

AT 10
2. IH
4. 2104J
5. I
9. 9x10%J
10. 2000 J, 1000 J
11. I

14. 5.4 x 107 [
17. 208333.3 J

18. ) I
(i) TR
(i) SRUTCH

20. 7.2 x 107 S[A

HAYY 11
6. 17.2m, 0.0172 m
7. 18.55
8. 6000
12. 11.47 s

13. 22600 Hz
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